WILL AMAZON’S WORKERS UNIONISE?

According to the video, are the sentences below true (T) or false (F)?

1. Amazon reinvested a lot in its early years.
QT-QF

2. There is general agreement that Amazon is a monopoly.
QT-QF

3. Amazon’s business model is based on lower prices and more choice.
UT-QF

4, Amazon is prepared to sustain losses on some products and services.
QT-aF

5. U.S. administrations do not accept the idea of predatory pricing.
QT-aF

6. A lawyer says that tech companies have the same strategies as any other companies.
QT-aF

7. Amazon will probably abandon its traditional areas of activity.
QT-QaF
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